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Quiz 5                                                                                                                       Sec: 01
Name:                                                                         Id#:                                          S. No.
A researcher randomly sampled 30 graduates of an MBA program and recorded data concerning their starting salaries. Of primary interest to the researcher was the effect of gender on starting salaries. Analysis of the mean salaries of the females and males in the sample is given below.

	Population 1 (female)Sample

	Sample Size
	14

	Sample Mean
	48250.5

	Sample Standard Deviation
	13570.6

	Population 2 (male)Sample

	Sample Size
	16

	Sample Mean
	52000

	Sample Standard Deviation
	11750.4


a. What are the assumptions required to test the claim that both populations have the same average starting salaries?

b. Find a 99% C.I. for the difference in the average salaries for females and males.

c. Test the claim that both populations have the same average starting salaries? Use α = 5%.
d. What is the p-value to do the test in part c?

